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ABETRALK

- Dalam penulisan skripsi ini, penulis bertujuan
untuk mengetahui Hemaﬁpuan gigwa BSMA GAMALIEL Ujung
Pandang dalam menggunakan Adjectives dan Adverbs.
Penclitian ini memperlihatkan kemampuan tiap siswa dalam
manjawab scal-scal yang diberikan.

Untulk mencapai tujuan tersebut, pEnUlis
mangumpulkan bulkku-buku wang berhubungan dengan objek
vang dibahas dalam skripsi ini, s@rta membacanya secara
seksama. Di samping itu penulis Juga mengadakan
penelitian lapangan di 5MA Gamaliel Ujung Pandang wuntul
mengumpulkan data melalui pemberian test tertulis kepada
20 siswa kelas IITAZ. Penulis memilih kelas ini sebagai
objek penelitian setelah bercakap-cakap dengan gury yang
mengajar Bahasa Inggris. Bentuk %fest wvang diberikan
vaituy dalam bentuk pilihan ganda wang terdiri atas 15
nomor dan melengkapi kalimat vang terdiri atas 15 nomor.

Lata wYang dipercleh dianalisis dengan
megngounakan metode deskriptif denpgan langkah-lanpgkah
sebagai - berikut : Pertama; penulis mengklasifikasikan
data ke dalam dua kelompok yaitu Test I dan Test 11,
mentabulasi data, menentukan jumlah benar dan salah dari
tiap siswa kelas IITAZ dan menoanalisis setiap

pertanvaan.




Fedua, penulis mentabulasi data dari tiap siswa kemudian
menentukan tingkat kemampuan siswa dan menentulkan nilai
rata-rata.

Hasil dari analisis dapat diperoleh hal-hal
sebagal berikub :
Fertama, kemampuan siswa kelas 11I1A3 dalam menggunakan
adjectives dan adverbs adalah memuaskan seperti wang
dapat dilihat dari nilai rata-rata vang diperoleh yaitu
87.5. kedua, nilai tertinggi yang diperocleh siswa yaitu

96.E6 dan terendah yaitu E6.6.




CHAPTER I

INTRODUCTTION

1.1 Backgrowund

It €an not be denied that language 4is an
important part of human life and society. It is used to
ralate a person to ancther person. In other words, it is
uged for communication. People use languags everywhere
ke communicate thelr ideas and to put their meanings
across.

We may realize that a language has so many
interrelationship with human life. But in reality, it is
not so easy for us to understand language manner, because
it also has a number of items of regulation called
grammay wh;ch describes about structure, pattern,
stress, intonation, rythm, usage and so on. S0 in
mastering a language we must practise it for a long
time.

« ANy language has a system, norms that need to
be known and obeyed by the users. English language is
very important to be learned because many scieptific
books are written in English. In learning English we
need to know the tenses and other grammar rules. Without

knowing the systems or rules af a language, we can not



get the meaning of any message and alsa iT  we speak,
sometimes, poople will not understand us.

One of the grammatical rules is Adjectives and
Adverbs. When we talk about Adjectives, it connects with
nouns and pronouns. Adverb is used to say, Tor example,
when, wWwhere or how something happens. There are a large
number of problems connected with the use of adjectives
and Adverbs. They are = the differences between
Ad jectives and Adverbs, the use of adjectives without
nouns, the comparison of Adjectives and Adverbs, the
position of Adjectives and Adverbs and other problems.

Because many students are still confused in
using Adjectives and Adverbs, B8O the writer is
interested in choosing "Adjectives and Adverbs as Used
by The Students of BMA Gamaliel Ujung Pandang (A Case

Study?"” as the title of her topic.

1.2 Reason for Choosing the Title
This title is chosen because of some reasons,
as follows
l. The students Ffind many difficulties in uEing
Ad jectives and Adverbs.
Z2. Many students can not use Adjectives and Adverbs

correclly in sentences.



1.2 SBcope of the Problem

Based on the explanation the Wwriter ogives
before about Adjectives and Adverbs, she limits only in
the terms @
= The differences between Adjectives and Adverbs.
= Kinds of Adjectives and Adverbs.

= The uses of Adjectives and Adverbs.

l.4 Objectives
The objectives of this study are as Ffollows i
1. to find out the students! ability in using Adjectives
and Adverbs.
<. to find out the students' mean score (nilai rata-
rata).
3. to know how they differentiate between Ad jectives and

Adverba.

1.3 Methodo] ogy
The writer uses some methods to collect data

and materials. The methods used are as follows

1.5.1 Library Research

In this method, the writer reads books, papers




and others which are relevant to object of

writing.

Field Research.
Besides library research, the writer aleoc pgives

the test to the third year students.

1.5.2.1 Methods of Collecting Data

The writer collects the data by giving tests

which are related to Adjectives and Adverbs. I

The testis are two forms 2

&, Multiple Choice
This test consists of 15 numbers and the
students are asked to choose the correct
adjectives and adverbs. Through this teut,
the writer wants to know the ability of the
students to recognise whether they are
ad jectives or adverbs,

b. Completion test
The students are asked to complete the
sentences using adjectives and adverbs which
have appropriate meaning. In this test the
writer intends to find out the ability of

the students to identify the adjectives and




adverbs. This test consists of 15 ﬁumhers
ag well. % :-k
1.5.2.2 Method of Analyzing Data
Thae data which has been ctollected is analvzed
by wuming Descriptive Method. The analysis is
based on fthe students” ability in using
adiectives and adverbs.
The writer takes the steps as follows
= The data are classified into 2 groups (test I
and test TI).
= Btudents' performance of claga IIIAS ims
tabulated then their achievement are
classified into five levels by using the

criteria as Tollows :

Bcore : BO 100 is classified as excellent.

70

72 is classified as good.

=0 E9 is classified as fair.

50 - 59 is classified as poor.
U = 49 is classified as very
poor.
Then, the writer shows the mean score by using

formula i

m = f¥x
[




H.'IET'E‘. IFi B mEdn Score
fx = the sum of total score
N = pnumber of students.
= The mean score is tabulated to show

students’ ability.

1.6 Population and Sample

1.6.1 Paopulation

the

The population of this research is the third vear

students of SMA Bamaliel Ujung Pandang, especially

Social Class.

1.6.2 Samples

The writer takes thirty students from the third

Year a5 samples of this research. The reason is

that they have already been studying adjectives

and adverbs. These thirty students are chosen by

their teacher because their teacher knows their

ability and they can become the representatives of

all classes.

1.7 Seguence of Presentation

The sequence of presentation is as follows

Chapter one is an introduction that consiests

of the background, resason for choosing the title, scope




aof the problem, cbjectives, methodology, population and
sample and sequence of presentation.

 Chapter two deals with theoritical background.

Chapter three is presentation and analysis of
data.

Chapter four is about conclusion and

guggestion.




CHAPTER 1II

THEDRITICAL BACKGROUND

2.1 Definitions of Adjecktives

Ad jectives is one of grammatical rules that
should be learned by the students and all of the peaple
who want to learn English. By understanding adjectives,
Wwe can use them correctly either in spoken or written
in English. In this chapter, the writer gives some
statements by experts as follows:
According to Hilier (1960:46) 1 "An Adjective is a word
usied to describe or determine the person or thing named
by its noun.”
According to Murphy (19BS5:192) @1 "An adjective tells us
more about a noun. We use adjective before nouns and
after a8 few verbes (especially be)."
According to Hornby (1989:15) @ "Adjective is word that
indicates & quality of the person or thing referred to
by a noun.”
Last according to Swan (1980) : "Adjective is & word
like green , hungry, impossible, which is used when we
describe people, things, events, etc. aAdjectives are
wged in connection with nowuns and pronouns. "

Based on the definitions above, the Writer may

conclude that an adjective is a word used toe describe




PEVEOn or thing and iz put before a noun or after a Tew

WErbhs.

2.2 NKinds aof Adjectivas

There are many kinds of adjective in the
books. And the writer only choose Miller (13960:456)
theories in his book, which he divided kinds  of
adje:%ive into 1
1. Proper=-formed from . proper NoUNS. A1l proper
ad jectives begin with a capital letter, as i
A Latvian book. A PBussian scldier. The Chinese
language. The Jewish faith.
<. Descriptive-showing of what guality or in what state
a thing, is, as=:
A young man. A wise action. An  industricus

student. A blup pencil.

2. Buantitative-showing how much & thing is meant, as :
Give me some bread. There is little ink in that
ink=pot. I have only half an hour to give you . Have

you any sugar 7 Tell me the whole story,

4. MNumeral-showing how many things are meant , or in
what order they come.
There are two kinds of numeral adjectives : Definite
and Indefinite. Definite Numeral Adjectives which

show




E.

{a) how many things there are, are called Cardinals j
(b) the serial order of the thing or things in
question are called Ordinals; (c) how many times a

thing is repeated, are called Multiplicatives.

Cardinals Ordinals Multiplicatives
Orne first single
Two second double; twofold
Three third treble, triple
threefald

Indefinite Mumeral Adjectives denote an indefinite
number of things, as:

Many books lie on that table. All the pecple have
gone.

Few Eurcpeans speak Chinese. Some Woman have
becomez professors. Several students went home sarly.
Demanstrative (Latin 'demonstrate! = to point oui,
to show clearly) = pointing ok or showing
clearly. Demonstrative Adjectives are divided into
two clasees ¢ Definite and Indefinite.

Definite Demonstrative Adjectives : the, this, these,
that,; those, yonder, such, the same, etc.

Indefinite Demonstrative Adjectives : a, an, any,
one, certain, such, some, another,etc.

Distributive-showing that the things are taken

10




separately or in separate lots, as @ each, every,

either, neither.

"Each' = one of two, or one of more than two.

"Every' = one of more than two.
"TEither™=s one of two or both.
Posgessive-farmed f S Personal P ng

denoting possession, as:

My, thy (your), his, her, its, our, your, their.

and

These adjectives must be used together with a noun

or a noun equivalent.
Example : Their house is made of wood.

I do not like your singing.

Interraogative - used in asking gquestions. These

ad jectives must also be wsed with a noun or a noun

equivalent, as @

What house is that ¥ Which season do you like best 7

2.3 The positions of Adjectives

few verbs or after nouns. According to Miller

Ad jectives can be put before nouns, after

EE), the positions of Adjectives are as follows:

1. The adjective is usually placed before the noun :

Examples : You have a autiful room.

Have vou snough sugar 7

11
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2.

You have written gix pages.
She is a charming woman.
An Adjectival Phrase is placed after the noun:

Examples : The bocok on  that table is extremely

interesting.

The boy entering that rooa is  my

yvoungest broather.
He is a man fond of shooting.
If W have a person's action 4in mind , the
participle expressing the action follows the noun: if
the participle does the #ark aonly of an adjective,
it precedes the noun, as
This is no laughing matter.
He had a surprised lock on his face.
The boy lauwghing is my brother (who is laughing?.
The position of the adjective may, in rare cases,
affect the meaning of the sentence, ac:
{a) The members present { = the members
attending the mesting).
by The present members [ = the members
belonging to the club at the present time).
Adjectives used as subjective complements Follew
the wverb of incomplete predication, unless emphasis

is intended, as:

12




He is kind.

She became rich.

They appear sensible.

Ad jectives used as objective complements folloew the
object , as:

I found him clever.

They made me glad.

I consider that useful.

The pronouns something , anything , nothing ,
somebody, some one, anybody, any one, naobaody, no
one, are followed by the adjectives that gualify

them.

E;ampliﬂ t Tell me something pleasant.

Have you meet anybody (any ongl new 7

If several adjectives are used to qualify the same

verb , they may be placed sither before o after the

M.

Examples : He is an intelligent and discreet yvoung
man.
He is a man, youna, nt igent, and

"Encugh' precedes its noun wunless the latter is
followed by an infinitive : it may then follow the

Noun.

13




Examples : ¥You have enough time.
You have encugh time to do it.

You have time encugh to do it.

Z.4 Definitions of Adverds

We know adverbe are used in the beginning of
the sentence, in the middle or at the end of the
sentence and have important function to construct a
sentence. To recognize an adverb clearly, the writer
guotes some definitions from certain grammarians :

As Hornby (1974) says in his book: "An adverb is a word
that answers guestion with how, when, where and modifies
verb, adjective and other adverb."“

David Cristal (19B0:16-17) states : "Adverb{ial) is
a term used in the Grammatical Classification
of words to refer to a heteropenecus group of words
items whose most frequent function is to specify the
mode action of the wverb."
Miller (1960:197) says : "An Adverb is a word that
may modify a verb, an adjective or another adverb."
Last, according to Thomson and Martinet (1990:33)
"Adverbs are words used to sho how, where, when, how
often or to what extent an action takes place.”

Based on these definitions , the writer

14
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concludes that an adverb is a word that modifies any

Part of Speech except a noun or pProncoun.

2.5 Kinds of Adverbs

There are many kinds of adverbs to make

sentences, but the writer only choose Miller (1960:137-

2013 theories, which he divided kinds of adverbs as
follows:
Z2.5.1 Simple Adverbs

Simple Adverbs may be subdivided into :.

1. Adverbs of time may be subdivided into :

{a) Adverbs of Definite Time : yesterday ,
tomorrow, now, then, ete.

Example : He came yesterday, but 1 was
not at home then.

(b Adverbs of Indefinite Time : soon,
before, since ' ago, presently,
immediately; BtcC.

Examples : He will soon come.
I have not met him before.

2. Adverbs of Place , Direction , or
Arrangement : here, fthere; hence, in, out,
within, etec.

Examples 1 Please come in.

Here is your pencil.




2.

Adverbs of Number may be subdivided into :

(a) Adverbs of Definite MNumber : once .,
twice, again, firstly, secondly, etc.
Example : He said that gnce only.

(b) Adverbs of Indefinite Number : socmetimes,
often, always, never, seldom, etc.

Example : He is alwave present.

Adverbs af Manner : well, badly, slowly,

hard,etc,.

Examples : The pen writes badly.

She is learning hard.

Adverbs of Degree, Extent, or Amount =

very, almost,; much, little, rather, etc.

Examples : She sang very beautifully.

They talk little.
Adverbs of Result or Reason @ therefore, so,

hence;etc.

Examples

It is late and =0 I must pgo.

He behaved badly and therefore
he was punished.

Adverbs of Affirmation and Negation : vyes,
no, not, perhaps, probably, certainly, etc.
Examples : Do you like fruit? Yeg (=1 1like

fruitl.

16




Will you come tomorrow 7
Probably.

B. Intensive Adverbs : only, Just, simply,
even, also, exactly, too, particularly, etc.
Although these adverbs modify the thought
of the whole sentence, they emphazise some
particular word or words in it, as @

I came Jjust to speak to you.

He can not tell me exactly wvhat she said.

Interrogative Adverbs
Interrogative Adverbs are used for asking
questions, and may be divided into adverbs of 1
(a) Time : Hhen did he arrive 7
How long will he stay 72

(b} MNumber : How cofften have I told you that 7
(cl Place or Direction : Where do you live 7
td) Manner : How (in what manner) did he do it ¢
te) Extent, Degree, or aAmount: How far do wyou

agree 7

tf) Cause or Reason ¢ Why do you come here 7

17




2.5.2 Conjunctive Adverbs
A conjunctive adverb is a part of speech with a
double function . It does the work aof an
adverb and of a conjunction . It Jjoints two
clauses, but at the same time it modifies the verb
af the Subordinate Clause which it introduces,
as &
I left the house when he arrived.
Conjunctive Adverbs may be divided inte adverbs
of :
(a) Time : He told me when I should come.
I shall come when you want me.
(b) Place : We live where there is little rain.
I asked him where he lived.
(c) Manner or Means =
Do it how you think best.
1 want to ask you how you made him
Come.
{d}) Purpose, Cause or Reason 3
1 do not know why he has come .
(@) Respect :
She does not zee vhere she was wrong .
(f) State 1

May I ask vyou how you fTound wyour

sister 7

iB8




(a) Extent, Degree or Amount =
Tell me how you enjoyed yourself.
(h) Number :
1 should like to know how often he

will do that.

Z. & Formstions of Adverbs

adverbs are formed in many ways. Some Torms
of adverbs are difficult to explain because they do not
have special clues. In this part the writer 1is only
discussing Tormation of some adverbs only namaly
adverbs of manner and adverbs of time. The following
forma of them are taken from Cyrill Miller (13600.
1. Adverbs of Manner

These adverbs are Tormed by @

a. Adding suffix -ly to descriptive adjectives.

Ad jectives . Adverbs
gquick quickly
beautiful beautifully
bad ~ badly

b. Using wards that can be used as adjectives or
adverbs

fast, hard, well, high, etc.

19




o je

He is a fast runner.

They climb

ive

Adverbs

He rune Tast.

& high mountain. The bird flew

high.

Using comparative / superlative deagree .

Positive

Comparative Superlative
well better best
hard harder hardest
Ad jectives that have a final v, the y ie changed to

i1

Qay -

gaily

Adjectives that have a final e, the g is retained :

extreme =
Exception :
true, dues,
truly, dully,
Adjectives ending
and add y 1
sensible -
capable -
Adjectives ending
rule and add lvy.

final =

whole

extremely

become

wholly

in gblefible, drop

the final e

sensibly
capably
in

a2 vowel + ] follow the wusual

finally

20




Z. Adverbs of time

These adverbs can be formed by : 1E
a&. Suffix -ly and -wards in ad jective.

Ad jectives Adverbs
late lately
atter aftterwards
present presently

b. Using prepositions (on, in, to, at) before nouns
(Sunday, morning, day, six, etc) become :
on Bunday, in the morning, to day, at siux

c. adding demonstrative adjective (this, that, the
same, the other) before nouns (morning, weel,
month, dav).

d. Using words that can be used as adjectives or
adverbs :

long, early, daily.

2.7 Positions of Adverbs

The position of Adverbs are not eguivalent in
all adverbs. Some kinds of adverbs may occupy all three
of the possible adverb positions, others only one or two
of these positions. Sometimes the meaning of adverbs may
depend on their position. Adverbs have three positions

in the sentence @ initial, medial and final position.

21




Some  kinds of adverbs can come together in  one
sentence. The adverbs of place, time and manner have the
other possible positions beside the most usual one
(Thomson and Martinet : 1930).
1. Adverbs of Manner
These adverbs come after the wverbs or after the
cbject if there is one. It means they come in final
position.
Example : He gave me money reluctantly.
You speal English well.
When a sentence haszs verb + preposition + object, the
adverbs can be either before the preposition or after
the object.
Example : He lcoked at me suspicicusly.

He looked suspicicously at me .
According to Thomson and Martinet (1990) if the

object in one sentence is short, we have verb + o +
adverb 'as shown in the sentences below :

She meets her freouently.

They sing a song beautifully.

But if the object is long, usually the adverbs are

put before the verb.
Example : She angrily denied that she had

stalen the documents.

They secretly decided to leave Australia.

e e




Z. Adverbs of time

These adverbs are usually place at the very beginning
or at very end of the clause or sentence. Adverbs of

definite +time are normally place at the very end of

the clause or sentence.
Example : I will come tomorrow.

His sister gave me the money a month ago.

2.8 Fanctions af Adverbs

Except the kinds, positions, formation, we
have t& know about the functions of adverb. As being
state by Miller (1960 : 205), he divided the functions
of adverb as follows @

1. Toe modify a verb.
Example 1 He spoke well.
She answered distinctly.
2. Toe modify an adjective.
Example : Your flowers are very bEautiful.
We had an extremely pleasant time.
2. To modify an adverb.
Example : He behaved very badly.
You have come oo late.
4. Te modify a participle or a gerund.

Example 3 She is yery amusing.

I was much pleased to see her.
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9. To modify an infinitive.
Example : He likes to wallk guichkly.

I gave him money to spend carefully.
E. T':" I'l'lﬂldif‘f a PhT"-EE'l-E'.

Example : He walked half across the town.
She is almost in the room.
7« To modify a clause.
Example : I came only because I want to see you.
He entered just as I was going out.

ATter discussing some theories about Adjectives
and Adverbs, the witer is going to present and analyze
the data obtained from the the tests done by the
students of SMA Bamaliel Ujung Pandang in the following

chapter.

24




CHAPTER 111

FRESENTATION AND ANALYSIS DOF DATA

In this chapter the writer presents the data
and the analysis about "Adjectives and Adverbs as Used

by the Students of SMA Gamaliel Ujung Pandang”.

J.1. Data Presentation and #nalysis of Test I

ThE writer collects the data by giving a

written test in multiple choice form consists of 15

items and completien test consists of 15 items to thirty
students as respondents.

The resources of the test based on the

material that has been given to the students, mainly

about Adjectives and Adverbs.

Test I (Multiple Choicel}
Note : The option with the asterisk (®) is the correct

d2NSWEr .

0l. The car almost hit the boy. the

driver managed to stop his car in time.

a. Fortunately S *
b. Fortunate =
Ca Fmrtunatinh- -
d. Fortunateness >




0z.

03.

035,

Be

a

girl and don't come home too

late tonight.

= 1

b.

Ca

d.

1t

to

-1

B.

Ca.

d.

I

it

Ce

d.

respect
respectful
respectabl
respectabl
Was such
me.

end
endless
ending

ends

was planning to go swimming yvesterday.

was raining very hard.

Unfortunat
Unfoartunat
Unfortunat
Unfortunat

have to

¥

very tired.

=

dctual
Actually
Actual ness

Actuals

ly
[

¥

a long,

ion
eness
e

2ly

get to

I don't feel like going, because I am

13

hard trip; it seemed

1
29 =

the library this afternocon.

ZB6




06 .

07 .

Q8.

03,

The only

tTriends.
2. wvalue

b. valuable

t. values
d. valusd

She has a terrible illness.
case,

hopeless

haope

hopelessness

hopelessly

A good driver always drives
4. CaAreless
b. carelessly
c. carefully
d. careful

Evervyone has been

television show.

thing that I

talking about

have 18 my

P I 0

iIt's &

1z =

10

that popular

_ 1 have never seen

that show.
a. Naturally
b. Matural

c. Nature

Maturalness
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10,

11.

12,

13.

14.

Who is  that

wearing makes her even more attractive.

. love _
b. lovely >a
c. loveliness 1
d. lover {

Sea water is

d. hnice o
b. nicely =
t. salt 1l
d. salty 2E

The old man never walks

_________ girl ? The dress

A Slowly L |
b. guickly 27 *
€. guick -
d. slow -

The pretty girl always dances

a. beautifully 29
c. bEauty

d. beautify =

When +the snake attacked the rabbit,

poiscn (racun) killed the poor animal.

a. dead 2

b. deadly 25

28
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Q1.

Oz,

CL. death 3
d. deaden =
It is not good to go on @ picnic today. It is
a. cloudiness 2
b. tlouds g
€. Cloudy =8 #
d. cloud -
The analysis of Test I
(1) :

Thie

car almost hit the boy. the

driver managed to stop his car in time.

15

The correct answer is fortunately, because it

used as= an adverb and is placed before subject

where it describes the whole sentence.

For

this item all of the students choose the right

answer. They know and understand the meaning of this

adverb.

Be

late tonight.

the correct answer and 29 {(96.7%) students choose

Ehe Wwrong answers

o girl and don't come home too

For thi=z item only 1 (3.3%) student chooses |
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03.

13 (43.4%) students choose "respect', this is wrong

because it is a noun and is not suitable with the
context. They Probably did not know the meaning of
this word,
16  (53.3%) students choose "respectfully’, this is
wrong because it is an adverb and used in  the
beginning of the sentence or at the end of the
sEntence.

The correct answer is r Bctable, because it
is an adjective and is placed before a noun which is

used as modifier in phrase "a respectable girl".

It was such a long, hard trip; it seemed R -
ma .

The correct answer is pndless, because it is
an adjective and used after the verb 'seemed', it
describes the noun "trip? in this sentence.

For this item 29 (96.7%) students choose the correct
answer and 1 (3.3%) student chooses the wrong
answer.

i (2.3%2 student chooses 'ending', this is Wrong

because the meaning is not appropriate with the

context and it is used as gerund or present

participle.
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0.

035,

D&,

1 was planning to go swimming yvesterday.

et e e o e e B

it was raining very hard.

For this item 29 (96.72) students choose the currecg/

answer and 1 (3.3%) student chooses the wrong

ANsWwer .

1 (3.3%) student chooses 'unfortunate', this is
wrong because it is an adjective and used to modify

A PO,

The correct answer is unfortunately, because

it is used as an adverb and formed by adding suffix

~ly to the adjective unfortunate.

I have to get to the library this afternoon.

y I don't feel like going, because I am

very tired.
The correct answer in this clause is actuallw,
because it is an adverb and is put im the beginning

of the clause which is formed by adding suffix =1y

to the adjective actual.

Far this item all of the students choose the correct
answer. They understand the meaning of this word and

yse it correctly in sentence.

ThE “ohlY ioaec v thing that T have is my

friends.

- 3 |




Far this item 29 (96.7%) students chocose the
torrect answer and 1 (2.3%) student chooses the
WroNng answer.

1 t3.3%) student chooses 'value', this is wrong
because it is a noun and is not suitable with this
context where a noun is used after adjective.

The correct answer is valuable, because it is
arn  adjective and used to modify the mnoun *thing'
which is formed by adding suffix =-able to the noun

yalue.

She has a terrible illness. It's a

case.

The correct answer is hopeleszs, because it 1s
an adjective and used as modifier in phrase "a
hopeless case" which is Tormed by adding suffix
-less to the noun hope.
For this item 12 (40%) students choose the correct
anaswer and 18 (60X} students choose the wrong
ANSWEY «
10 ¢322.3%) students choose 'hope’, this is wrong
becausg it is a noun and is not suitable to be used

in  this context. Maybe they fill in this item

hurriedly.
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because it is an adverb and used to describe the

whole sentence. Possibly they did not know the

meaning of this word.

0B. A good driver always drives

For this item 27 (90X) students choose the
terrect answer and 3 (10%) students choose the wrong
ANBWEY .

1 (3.3%) student chooses 'careful', this is wrong
because it is an adjective and used to modify a
al=1TT N

Z2 (e.6%) students choose !'carelessly’, this is wrong
becausse the meaning does not suit with the context.

The correct answer is cargfully, because it is

used as an adwverb and i put at the end of the

=entence which is formed by adding suffix -1y to  the

adjective cargful.

0%, Everyone has been talking about that popul ar

television show. . 1 have nevar sean

that show.

The torrect answer is naturally, because it is

an adverb and is put in the begining of Lthe sentence
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and it is formed by adding suffix -ly to the
atdjective NDatural,

For this item all af the students choose the correct

answer,

Who is  that _____ girl? The dress she is
wearing makes her even more attractive.

For +this item ZB (932.4%) students choose the
correct answer and 2 (GE.BX] students choose |hea
WO ansSwWer.

1 (3.3%) student chooses '"lover', this iz wrong
because it is a noun and used after an adjective
which this word desribes the people who love somecns
Gy something.

i (3.3%) student chooses "loveliness'!, this is wrong
because it is a noun and used to describe somnecn2’s
face.

The correct answer is lovely, because it is an

adjective although ends with -ly, but it means 'have

special characteristic' and used to modify the noun

gqirl.

Sepa water is _ .. e

The correct answer is salty, because it is an

ad jective and ysed after to be 'is' which is formed
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12.

13.

by adding suffix -y to the noun salt that means
"1Llket,

For this item 26 (BE.7X) students choose the correct

answer and 4  (13.32) students choose the wrong
ANSWEF .

4 (13.4%) studente choose fealt', +¢his is wrang
because it is a noun and used after an adjective.

Possibly they did not understand completely about

derivation.

The old man never walks "

For this ditem 27 (90X) students choose the
correct answer and 3 (10X) students choose the wrong
answer.

3 ¢(10%) students chooze "slowly', this is wrong
because the meEaning does not suit with the sentence.

The correct answer is guickly, because it is
used after the verb 'walks' and describes GLthe old

man actien which is formed by adding suffix -1y Lo

the adjective guick.

The pretty girl always dances _ .

The correct answer is beautifull because it
is an adverb and is put at the end of the sentence

which is  formed by adding suffix -ly ta the

39
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14.

1
r.
ad jective Qgﬂﬂiiiﬂl- \
For this it - '1 i
item 29 (96.7%) students choose Lthe
correct answer and 1 ¢3.3%) student chooses the
Wrong answer,
1 (2.3%) student chooses 'beautiful’, this is wrong

because it is an adjective and used to modify a

MoLn.

When the snake attacked the rabbit, its ______
poison (racun) killed the poor animal.

For this item 25 (83.4%) students choome the
correct answer and S5 (16.68X) students choose the
Wrong answer.

S (10%) students cthoose 'death', this is wrong
because it is a noun and used after an adjective

that means being dead.

2 (F.62) students choose 'dead', this 1is wrong

because it is a noun that means already die.
The tcorrect answer is deadly, because it is an

adjective and used before the noun 'poisen’ which is

formed by adding suffix -1y to the noun dead that

means "have special characteristic’.

1+ is not good to go on A& picnic teday. It is

.
e e i B e S
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Th .
B rovrect answer is cloudy, because it is an

dl |
adjective and used after ta bt Tis?, it is formed by
adding suffix -y  to the noun cloud that means

Flike ... or Full with..,”
For this item 28 (93,423 students choose the correct

answer and 2 (B6.6%) students choose the wrong

SNEaEwEr.

2 (B.6%) students choose 'cloudiness", this is wrong

because it is a noun and means being cloudy.

a2 Data Presentation and Analvsis of Test I1

Test IT1 (Completion Test)

NMote : The option with the asterisk (#) is the correct
S NEWEF .

Lengkapilah kalimat-kalimat ini dengan kata-kata sifat

(ad jectives) dan kata-kata keterangan tadverbs).

SUNny silky hilly

rainy icy grassy

daily blocdy handy
unfortunately directly immediately
frankly preferably carelessly
forunately beautiful ly

01, What months are the e Season in Indonesia?
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02.

03

0,

05.

O6.

o7,

08.

"rainy"

23 *
sunny" 4
"daily® 1

This 'sarong' is not made of silk though it looks

el lky" =8 %
“sunny" >

L R day is a good washing day.
"sunny " 9 =
“dailw" 1

Our ftown, being a small one, has only one

newspaper, which appears every morning.

"daily" 20 #*

The house is surrounded by a garden.
"grassy" 29 »

Bukit Tinggi is a _ ot town.

"hil Ly" 27 *

"grassy" b

“milky" 1

after the fight, the boy came home with a ________
nese .

"bloody" <8 =

" handy " ¥

It is winter, and we travelled on

roads.

=8

Yy - R '-'-B_lg_-_-:;l-_'fi?"-_bu_'fhn-h!:ni__.._'_—. Ty oty e g e oy T i

e
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.

10.

11.

1Z.

13.

in '-lu.'!-'u __“a %

Mg nartiry 1

cafetbtaria. I doan't thinmk the plan will

———ram e P

S il .

"framkiy" e B Y

"bRaulkiful ly" 1

"carelessly" 2

"unfortunately" 1

We looked the accident "

"directly” 23 #*

“carelessly" 2

“"imnediately" 4 L
"frankly" i

She wants to hear the good news ___ __ . . _-=
"immediately” 20 ¥

' the police could not find the

nurderer.

fynfortunately® iy *
"fortunately" 3
"carelessly"” 1

He often spends the money :
Wearelessly" 26 #
"frankly” 3
“immediately" 1

=249
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14. We are looking for a secretary.

_________ , ong  who
can wspeak English.
“"preferably" =4 *
"baautiful ly" o
"directly" o
15. _ y we didn't have to wait long in the
station.
"Tortunately" =9 "
"unfortunately" 1
The Analysis of Test II
Il tem
01. What months are the _______ __ seasan in Indonesia?

The correct answer is rainy, because it is an
adjective and used before the noun 'season’, it is
formed by adding suffix -y (means ’"full of') to the
noun rain.

For this item 25 (83.4%) students choose the correct
answar and S5 (16.6%) students choose +thie wrong
SNEWE =

4 (13.2%) students choose 'sunny®, this is wrong

because the meaning does not fit the context.
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0.

1 (3.3%) student chooses 'daily', this is wraong
because the meaning of the word is not suitable with
the context, this adjective is formed by adding

suffix =ly to the noun day that means 'repeat

pericodically’,

This Tsarong' is not made of silk though it looks
Fayr this item 2B (92.4%) students choose the

correct answer and 2 (6.B%) students choose fthe

WIronod answer.

2 B.6E) students choose '"sunny', this is wrong
because the meaning is not suitable with the
context.

The correct answer i1g silky, becauvse it 1l an
adjective and used after the verb '"looks', 1t is

formed by adding suffix -y to the noun silk.

A day is & good washing day.

The correct answer is s ; because it is an
adjective and wused before the noun 'day’, it is
formed by adding suffix -y to the noun sun.

Far this item 29 (96.7%) students choose the correct

answer and 1 (3.3%) student chooses the wrong

ANSWEK .
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&

OE.,

1 (3.3%) student chooses "daily?®, ©Lhis is wrong

berause the meaning does not fit the context.

Bur town,  being a small one, has only one

- - newspaper, which appears every morning.

For this item all of the students can answer
correctly.

The correct answer is daily, because it

is an adjective and used before the noun

'HEUEHEper‘, it is formed by adding suffix =y %o

the noun diov.

The house is surrounded by a garden.

The correct answer 1s grasgsy, because it is an
adjective and used before the noun fgarden®, it is
formed by adding suffix -y to the noun grass.

For this item 29 (96.7%) students choose the correct

answer and 1 (3.3%) student does not choose any

BNSWETL .

Bukit Tinggi 1s a town.

For this 4item 27 (90X} students choose the

correct answer and 2 (10¥) students choose the wWirang

ANSWEaET .

1 ¢3,3%) student chooses "silky’, this is wraong

because the meaning does not fit the context.

o




L 4

08,

2 (6.B%) students choose 'grassy', this is wrong

because the meaning is net suitable with  the
sentence.

The torrect answer is hilly, because it is an
adjective and wused before the noun Ttown' iL is

formed by adding suffix -y to the noun hill.

After the fight, the boy came home with a

o B e e ey e

MNose.

The torrect answer is bloody, becauwse it is an
ad jective and used before the noun "nose’, which 1s
formed by adding suffix -y to the noun Rlood.

Far this item 28 (93.4%) the students choose the
correct answer and Z(G6.6%) students choose the wrong
ANSWET «

1 (3.3%2) student chooses "handy', this is wrang
berause the meaning of the word does not fit the
context.

1 (3.2%) student does not choose any answer.

It is winter, and we travelled on

roads.

For this item 29 (96,7%) students choose the

correct answer and 1 €3.3%) student chooses the

Wrong answer.




0.

1 C3.3%) student choones feunny', this 18 Wrang

because the meaning of the word is not suitable with

the context.
The correct answer is icy, because it is an
adjective and used before the noun 'rvoads', Lt is

formed by adding suffix -y to the noun ice.

They are working eut a plan to ocpen & student’s

cafetaria. _______ s I don't think the plan will

succeed.

The correct answer is frankly, because it is

an adverb and is put in the beginning of the
sentence, it is formed by adding suffix -ly to the
ad jective frank.
Far +this item 24 (BOY) students choose the correct
answer and B (20%]1 students choose the Wrong anewear.
1 £32.3¥) student chooses 'beautifully', this is
wrong because the meaning does not it the context.
2 10%) students choose 'carelessly’, this is wrong
because the meaning of the word is not
appropriate with this context. Possibly they did not
know the meaning of this word.

{ ¢2.3%) student does not chooss any answer.

i (3.3%) student chooses "unfortunately', this is
wrong because the meaning is not suitable with the
conkext.
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11.

We locked the accident

For  this item 23 (76.8%) students choese the
torrect answer and 7 (23.2%) studenle choose the
WIrona answer,
<4 (E.EZ) students choose 'carelessly', this is wrong
because the meaning dees not fit the context.

4 (13.3%) students choose "immediately', this is

wrong because the meaning of the word is  not

appropriate with this context. This word probably

have the similar meaning with "directly’ and it can

be used in other context.

1 (3.3%) student chooses 'frankly®, this 1is wrang
because the meaning is not sutable with the context.

The correct answer is girgctly, because it is
an adverb and is put at the end of the sentence, it

is formed by adding suffix -ly to the adjective
direct.

She wantse to hear the good news _ .

The correct answer is inmediately, because it

iz an adverb and is put at the end of the sentence,
it 4= formed by adding suffix -ly to the adjective
immediate.

this item all af the studenlis can answer

Far

correckly.

439

— P —



12.

13.

i ' the poliee could not find the
murderer.

For fthis item 26 (86.7%) students choose the
torrect answer and 4 (132.3%) students choose the
WrEng answer.

1 (3.3%) student chooses fcarelessly', this is wrong
because the meaning doss nobt fit the context.

= (10%) students choose 'fortunately?, this is wrong
because the meaning is not appropriate with the

context.

The correct answer is unfortunately, because

it is an adverb and is put in the beginning of %the

sentence, it is formed by adding suffix -1y to  the

adjective unfortiunate.

He often spends the money _ .

The correct answer is carelessly, because it
ie an adverb and is put at the end of the sentence,
it is formed by adding suffix =-ly to the adjective
careless.

For this item 26 (BE5.7%) students choose the correct
answer and 4 (12.3%) students choose the wrong
ANSWET «

2 ¢10%) students choosa "frankly' this is wrong

because it 4is not suitable with the context. Maybe
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14.

15.

they did not know the meaning of this word.
1 (3.3%) student chooses fimmediately', this is
wrong because the meaning of the word is not

dppropriate with this context.

We are looking for a secretary. . ___
can speak English.

For +this ditem 24 (BO¥) students choose Lhe
correct answer and & (20%) students choose the wrong
SINEWET .

4 (12.3%) students choose '"beautifully', this is
wrong because the meaning of the word does pot  fit
the context. They probably Till in this item
hurriedly. |

? (6.6%) students choose 'directly’, this 1s wrong
because the meaning 4is not suitable with the
context.

The correct answer is preferably, because it

{s an adverb and explain the whole sentence, it is

formed by adding suffix -=ly to *the ad jective

EEETEYEBIE.

. we didn't have to wait long in the

station.

The correct answer is f , hecause it

a7
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is an  advarb and is put in the beginning of the f

sentence, it is formed by adding suffix -ly to  the '

ad jective fortupate.

For this item 29 (96.7%) students choose Lhe correct

answar and 1 (3.3%) student chooses the  wrong ]
ANSWET .

1 (3.3%) student chooses’unfortunately', this is

wrong because the meaning of the word is not '

appropriate with this context.

Based on the number of the corr@ct answers,

the writer classifies the achivement into 5 levels, as

fxllows:

B - 100 is classified as excellent

70 - 79 is classified as good

B0 - 69 is classified as fair

=@ = 59 ig classified as poor

0 - 49 is classifi;d as very poor

Besides the writer shows the sScores o f

etudents, the writer also shows the mean score of class

I111Ag. The fallowing formula is used:
Tx
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Table

where,

IT1I

Btudents' Scores of class Il11As in answering

o

= the gsum of Lotal sCoOre

M = rumbeyr of students

]|

= the mean score

Test I and Test Il

Respan—! NUMEER CF EI:IFEH;:T ANSWERS 'Total -;f! | Frequency
dents - Tt e e 'corvect 'Scorat
o Temt I ! X 'Test IT ! % 'ancwvers ! i L
[ i i
L4 - 61 A5 Lb: B 1 e B
i 8 4 1Ees 8 ey 28 4 95.5';
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2 | om i gl @ e
B 1 12 : B! 15 100 I. Z > !
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7Y 13 1 opg
g - 13 ! HE
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19 ! 1z bopo
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= | 12 ' g0 1
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Table III
of students of class

is GBG.G.

ol 1

The number
out of 15 items. She
itmn no.2 of test L.
of trespectable’-

the two test

14
13
14
13
12
13
13
1z
11

12

13

12

F 8 B 8

5 2 8 d B R B B

P P M SR AR RSN R e PEm s e s JEE DR TER PER TmrimEs s S SdS A A mEm o rwm e oS 2SS

2 8

5 e —————
e b R B dEm TEr pws R SR A GE B R s s e e S D EE S

R OE B B B B B B & N

8 B R

=

above shows that the highest

IIIAE is 96.6 and the lowest

SLore

sfore

af correct answers of test I is 14

makes only the wrong answer on

She choosSes trespectfully’

S0

The number of correct

= done bY this respondent i

SNsWer s

Lhe

instead

from

g 29 and this is




equal to the score of 96.6. This score fa: whedtar BB

« F
rapxcel lent as  the level of her ability based on bhe

criteria used in this Wwriting.

Respondent 32

The number of correct answers from the two
teets done by this respondent is 29 and this is similar
to  the score of 96.6. This store is equal to
rexcellent? as the level of her ability based on the
criteria wused in this writing. The number of correct
answers of test T is 14 ocut of 15 items. She makes only
the wrong answer on the item no.3 of test I. She chooses
rending’ instead of 'endless’. The number of correct

answers af test II is 19 out of 15 items.

Respondsnt 2

There are 13 correct answers out of 15 i1tems

in test 1. She makes two wrong ansWwers on the item Mo.2
and 7 of test I. She chooses 'respect’ instead of

*respectable' on no. 2 and she chooses "hope'! instead of

15 correct answers out of
"hopeless’ on no.7. There are 1J

15 items in test II. The number of correct answers from
i

the two tests done By this respondent is 28 and this is
1

" ne as the score of 93.3. This score is equal to
e sa

% 1lent’ as the jevel of her ability based on the
excellen

criteria of this writing-
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Respondent 4 G

In test I there are 13 correct answers out of

13 items. He makes twe Wrong answers on the item no.d

and 15 of test I. He chooses 'respectfully' instead of
"respectable’ on ne.2 and he chooses felowdiness’
instead of 'cloudy’ on no.15. In test II there are 15
correct answers out of 15 items. The number of correct
answers from the two tests done by this respondent is 28
and this is the same as the score of 93.3. This score is
egual to "excellent’ as the level of his ability based

on the criteria of this writing.

Respondent 5

The number of correct answers of test I is 13
out of 15 items. He makes two wrong answers on the item
no.2 and 7 of test I. He chooses rrespectfully’ instead
of 'respectable’ on no.2 and he chodses Thope' instead
of 'hopeless’ on no.7. The number of correct answers
from the two tests done by this respondent is 28 and
this is equal to the scoré of 93.3. This score is
similar to fexcellent' as the level of his ability based

on the criteria used in this writing.

espondent &

i =

There are 14 correct answers out of 15 items

in test 1. He makes only the wrong answear on the item

no.2 of test I.
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He 3
chooses "respectfully’ instead of

'respecl '
pectable’.  There are 14 correct answers out of 15

items in test II. He makes anly the wrong answer on the

item no.l of test II. He chooses 'sunny’ instead of

L]

rainy'’. The number of correct answers from the two
tests done by this respondent is 28 and this is the same
as the score of 93.3. This wcore is  egual o

fexcellent™ as  the level of his ability based on  the

criteria of this writing.

(E] ndent T

In test I there are 13 correct answers ocut of
1% items. She makes twe wrong answers on the item no.2
and 7 of test I. She chooses Trespect' instead of
frespectable’ on no.2 and she chooses 'hopelessly'
instead of "hopeless® on no.7. In test II there are 13
correct answers out of 15 items. The number of correct
answers from the two test done by this respondent is 28
and this is the =amg as the score of 93.3. This score is

Gqual o rexcellent’ as the level of her ability based

on the criteria of this writing.

Respondent 8

The number of correct answers of test I is 14

out of 13 items. He makes only the wrong answer on the

item no.2 of test I. He chooses 'respectfully! instead

o3

T L My




of "reap : ’
Pectable’. The number of correct answers of test

I1 dis 14 out of 15 items. He does not choose any answer

on  the ditem no.7 of test II. The nunber of correct

ANSWEers Trom the two tests done by this respondent is

28 and this is equal to the score of 92.3. This score is

similar to 'excellent' as the level of his ability based

on the criteria used in this writing.

Respondent 9

In test I there are 13 correct answers ocut of
15 ditems. She makes two wrong answers on the item no.Z
and 7 of test I. Bhe chooses "respectfully' instead of
*respectable’ on ne.2 and she chooses "hope' instead of
Thopeless’ on no.7. In test I1 there are 13 corrvect
answers out of 15 items. The number of correct answers
fram the twoe test done by this respondent is 28 and this
is the samz as the score of 93.3. This score is equal to

tevcellent? as the level of her ability based on the

criteria of this writing.

Respondent 10

The number of correct answers from the two

tests done by this rospondent is 20 and this is equal to

the SCOrE af 92.32. This score is similar to

taxcellent! as the lever of her ability based on the

i i i this writing. The number of correct
criteris used in

o
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(=AM i 5
answers of temt: I is 13 oub of 15 itoms. Bhe makes two

wreng  answers on the item no.2 and B of test I. She
thooses 'respectfully' ipstead of 'respectable’ on no.2
and 'earelessly' instead of "carefully on no.8. The

number of correct answers of test I is IS out of 15

i1tems.

Respondent 11
There are 12 correct answers out of 15 items
in test I. He makes three wrong answers on the item

ne.2, 7 and 11 of test I. He chooses "respect’ instead

af '"respectable’ on no.Z, '"hopelessly' instead
af Thopeless' on no.? and realt’ instead of
'salty' an no.11. There are 13 correct

anawers oukt of 15 items in test II. The number of
carrect arswers from the two tests done by this
respondent is 27V and he gets the score of 90. This score
of 90 is egual fn rgxecellent as the level of his

ability based on the criteria of this writing.

spondent 12
The number of correct answers of test I is 12
aut of 15 items. She makes three wrong answers on  the

item no.2, 7 and 8 OF test I. She chooses 'respect?
LI |

£ ectable’ an he. B
instead o f resp -
f hopeless! an no. 7 and
"hopelessly’ instead of pe
i
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- .
careful’ instead of 'carefully’ on no.8. In test 11

Yherh! e 1% cerrmet answerss out of 15 items. The

number of correct answers from the twe tests done by
thas respondent is 27 and she gets the score of 90. This

score of 30 is equal to 'excellent' as the level of her

ability based on the criteria of this writing.

Respondent 13

In test I there are 12 correct answers out of
15 items. She makes three wrong answers on the item no.
2,7 and 12 of test I. She chooses 'respectfully’ instead
af ?'respectable’ on no.d, 'hopelessly'  instead of
Thopeless' on no.7, and 'slowly' instead of 'gquickly”
on ne.12. In teet II there are 15 correct answers out of
1% items. The number of corvect answers from the two
test done by this respondent is 27 and this is the sane
as the score of 0. This score is equal to 'excellent'’

as the level of her ability based on the criteria ot

this writing.

Respondent 14

The number of correct answers Trom the two

tpsts done by this respondent ig 27 and this is egqual to

i core is similar to 'excellent' as
the score of 90. This &

th level of his apility based on Lhe criteria used
e =)

t answers of tast
‘g d The numbeEr of cortreac
in this writing.
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1 is 13 1
cut of 15 items. He makes two wrong answers on

the dtem ne.2  and 7 of test 1. He chooses

T s ol .
respectfully’ instead of ‘'respectable’ on ne.2  and
‘hopelessly! instead of "hopeless! on no.7. The number
of correct answers of test II is 14 ouwt of 15

items. He makes only the wrong answer on the item no.lZ

o f test Il. He chooses 'carelessly' instead of

funfortunately’.

Respondent 15

There are 13 correct answers out of 13 1tems
in test 1. She makes two wrong answers on the item no.Z
and 7 of test I. She chooses "respectfully’ instead of
frespectable’ on no.2, and 'hope' instead of *hopeless’
an no.7. There are 14 correct answers ouf of 15 items in
test II. She makes only the wWrong ansWwary on the item
no.2 of test I1. She chooBES fgunny! instead of '"silky'.
The number of correct ansWars from the two tests done by
this respondent 1S ~7 and she gets the score of 0. This

score of 90 is equal to revcel lent' as the level of her
ability based on the criteria of this writing.
Regpondent 16

In  test I there are 13 correct answers out

af 15 items. He makes two Wrong answers on the item no.2

e T Ay ir— e . e g+ T L | W T -
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I+ He Chooses ‘regpectfully' instead of

"'respectable!
= =) ON ne.2  and 'beautiful'  instead of

r v
CEBLELTULIVE G b AL In wwsg 19 Srevs are 14

zary
correct answers aut of 13 items, He makes only the wrong

answer on  the itap no. 9 of test 1I. He chooees

r . 1 4
beautifully’ instead of an "frankly'. The number of

correct  answers from the Lwoe tests done by this

raspondent is 27 and this is the sams as the score of

J0. This score is equal to Texcellent' as the level of

his ability based on the criteria of this writing.

Respondent 17

The number of correct answers from the two
tests done by this respondent is 27 and this is egual to
the score of 90. This score is similar to "excellent' as
the level aof his abilily based on the criterla uwsed in
this writing. The number of correct answers of test I
is 12 out of 15 items. He makes two wrong answars on the
item NG« 2 and 10 of test I. He chooses
of "respectable on no.d and

'respectfully’ instead

Vi instead of rlovely' on no.10. The number of

corract answers of test IT is 14 out of 15 items. He

does not choose any answer on the item Ao.S of test II.
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Respondent 18

There are 13 correct answers out of 15 items
in test I. Bhe mahn; two wrong answers on the item no.Z

and 7 of test 1. She chooses 'vespectfully' instead of

‘respectable’ on no.2, she chooses "hopelessly' instead
of "hopeless' on no.7. There are 132 correct answers out
of 15 items in test II. She makes Ltwo wrong answers on
the item no.l and 13 of test II. She chooses !sunny'
instead of 'rainy’ en no.l and "frankly' instead of
Tcarelessly' on no.l2. The number of corvrect answers
from the twa tests done by this respondent is 26 and she
gets the score of BE.E6. This score of BE.B is equal to

rexcellent' as the level of her ability based on the

criteria of this writing.

Respondent 1%

In test I there are 12 corvect answers out of
1% items. She makes three wrong answers on the item nfo.
2,7 and B of test 1. She chooses frespect'’ instead of
'respectable’on no.Z, *hopelessly' instead of 'hopeless?

on no.7, and 'carelessly' instead of Tcarefully'™ on

no.8.

In test 1I there are 14 correct answers out of 15 items.,

She makes anly the wrond answar on the item no. 1 af

test II. She chooses 'sunny’ instead of on frainy'. The

numbar of corract answars Tfrom the two tests done by

ag




this res + ie
i respondent is 26 and this is the same as the score

i § 5. 6. i i
of BG.6. This score is squal to 'excellent’ as the level

of his ability based on the criteria of this writing.

Bespondent 20

The number of correct answers Trem the two
tests done by this respondent is 26 and this is egqual to
khe sCore of B6.6. This score is similar to
Texcellent' as  the level of her ability based on the
criteria wused in this writing. The number of corrvect
answers of ftest I is 13 out of 15 items. She makes Lwo
wrang answers on the item no.2 and 7 of test 1. She
chooses Trespect’ instead of 'respectable’ on no.2 and
"hopelessly' instead of "hopeless' on no.7. The number
of correct answers of test 11 is 13 out of 15 items. She
makes two wrong answers on the item no.10 and 14 of test
I11. She chooses !frankly’ instead of Tdirecily' on no. 10

g ' beautifully!  instead of T"preferably’™ on no.l4d.

Eesganﬁeny 21

There are 13 correct answers out of 13 ilems

in test I. She makes two wrong answers on the item no.2

and 14 of test {. She chooses 'respectfully’ instead of

S ctabla' ©n no. 2, she chooses 'dead' instead of
spe

12 correct anawers &
Tdeadly' en no.l4. There are re e out of




15 items in test M
M& 1N test II. Bhe make thres WrONg answers ﬂnj%hﬂ"'

item NoSy 12 and 13 of test I1. She chooses

frarelessly’ instead of "Frankly’ on no.9, 'fortunately”’

instead of "unfortunately’ on no.12, and rfrankly!
instead of "carelessly' on no.i13. The rnumber of correct
answWwers from the two tests done by this respondent is 25
ancd she gets the score of ﬁg_g_ This score of B83.3 1is

equal  to Texcellent' as the level of her ability based

on the criteria of this writing.

Respondent 22

In test I there are 12 correct answers out of
15 items. She makes three wrong answers on Che item no.
2,7 and 12 of test I. Bhe chooses frespect! instead of
'respectable’ on no.2, she Thope'instead af'hopeless'
on Mno.7, and fslowly' instead of 'guickly® on no.l12. In
test Il there are 13 correct answers out of 15 items.
She makes Ltwo wrong answers on the item no. 10 and 14 of
test II. She choosSes rimmediately’ instead of "directly’
on no.10 and sha chooses 'beautifully' instead of
no.14. The number of correct answers

'prefEFahly’ o

f the two test done by this respondent is 25 and this
Fom

.o the same as the score of B83.3. This score is egual to
13 B2

L1ity based on the
the level of her abi
rexcel lent” =14

criteria of this writing-



Respondent 23

Th
8 number of corvect ancswers of test I is 12

sut  of
i ot 135 items. He makes three wrong answers on  the

1tem Ao. 2, 7 and 14 of  test 1. He  chooses
frespactfully!? instead of *respectable’on no.2,
Thope' instead of 'hopeless’on ne.? and 'sald! instead
of *salty” on no.li. The number of correct anowers

of test II is 13 out of 1S items. He makes two wrong
answera on +the item no.l and no. 7 of test 11. He
thooses 'daily' instead of "rainy’ on no.l, and he
chooses "Thandy' dinstead of Tbloody' on no.v. The
number of corvect answers Trom the two tests done by
this respondent is 25 and this is equal to the score of
g3.%, This score is similar to Texcellent' as the level
of his ability based on the criteria uwsed 4in  fthis

writinge.

M rce P

The number af correct answers Trom the two

tests done by this respondent is 25 and this is equal to

the score of B3.3. This =score is similar to Texcellent!

as the level of her ability based on the criteria used

in this writing. The number of correct answers of Llest

I is 13 out of 15 items in test 1. She makes two wrong
ig

& won the item no.2 and 7 of test I. She chooses
answer
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"respect?
p instead of 'respectable’ on no.2 and she

choomupg * F o .
hopa' instead of fhopeless' on no.7. There are

12 correct ans § :
Wers out 1S items in test 11. She makes

three wrong answers on the item no.6, 10 and 14 of

test I1I. She chooses "silky' instead of Thilly" on no.6,
'earelaessly!? instead of ‘'directly’ on no.l0 and

"beautiTully' instead of 'preferabily' on no.l4.

Respondent 25

There are 13 correct answers out of 1S items
in test I. She makes two wrong answers on the item no.z
and 14 of test I. Bhe chooses 'respectfully’ instead of
'vespectable’ on no.Z, she chooses 'death' instead of
'deadly' on no.ld. There are 11 correct answers out af
15 items in test I11. She makes four wrong answers on the
item no.1, 9, 12 and 13 of test 11. Bhe chaoses T'sunny'
instead of 'ralny' on no.l, 'unfortunately’ instead of
Ffrankly? an no. 9, rfortunately’ instead of
tunfortunately’ on no. 12, and Tfrankly’ instead aof
' carglessly’  on no. 13. The number of correct answers
o tests done by this respondent is 24 and she

from the tw

gets the ScCore of BO. This score of B0 “is: equal %o

rexcellent™ a5 the level of her ability baszed on Lhe

eriteria of this writing.

B



Bespondent 26

In test I there are 12 torrect answers out of

S
15 items. She makes three wrong answers on the item no.

2,7 and 14 of test I. She choosps 'respect' instead of

'respectable’ on no.2, Thope' instead of Thopeless' on

no.7, and 'dead' instead of Fdeadly' on no.id. In test

11  there are 1Z torrect answers out of 15 items. She
makes three wrong answers on the item no.6, 10 and 14 of
test Il. She chooses rgrassy’! instead of on Thilly" on
no.6, fimmediately' instead of on "directly' on no. 10
and ?'beautifully® instead of on Tpreferably? on no.l4.
The number of correct answerse froem the two tesis
done by this respondent is 24 and this is the same ac

the scorg of BO. This score is equal to Texcellent' as

the level of her ability based on the criterla of this

Wwriting.

e podant 2

The number of correct answers from the two

teste done by this respondent is 24 and she gets the

erorg of B0, This score is equal to 'excellent' as the

1 1 of his ability based on the criteria used in this
eve

iting. The number of correct answers of test 1 ds 12
WILELN -

: . kes three wWwrong answers
;. in test 1. He ma
put of 15 items

beat T. He chooses
o T and 14 of

B4



r z 1
respectfullyr instead of 'respectable’ o 1 =

[ N _ ¥
hopelessly instead of 'hopeless' on no.7, and

rdeath' instead o f "deadly’ on no. 4. YL mare

correct answers of test I is 12 cut 15 items. He makes

three wrong answers on the item no.9, 10 and 14

of test Il. He chooses 'carelessly' instead of ' frankly!?

an 9, '"carelessly instead of "directly' on ne. 10 and

'directly’ instead of ’"preferably’ on no.l4.

Respondent =8

There are 11 correct answers out of 15 ilems
in test I. He makes four wrong answers on the item no.Z,
7, 11 and 14 of test I. He chooses *respect’ instead of
*respectable’ on (g [= Thope! iLnstead of '"hopeless’ on
no.?, fesalt' instead of ?salty' on no.il and 'death!
instead of 'deadly' on no.l4. Thera are 13 correct
answers out of 15 items in test II. He makes two wrong
answers on the item no.8, and 10 of test 1l. He chooses
reunny' instead of Tiecy’ on no.B, and 'immediately’
of rdivectly' on fio. 10. The number of correct

instead

vs from the two tests done by this respondent is 24
ANBEWE

d he gets the score of 80. This score is the same as
and he

jlentt as the ipvel of his ability based on the
Texcellen

criteria of this writing.
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Responderi . 2¢

Thie

number of correct answers from the two tests

made by this respondent is 22 and she gats the score of

76.6. This score is similar to "good' as the level of

her ability based on the criteria used in this writing.
The number of correct answers of test I is 11 out of 15

items. She makes four wronyg answers on the item no.2, 6,
11 and 12 of test I. She chooses "respect’ instead of
Trespectable’ on no.2, "value' instead of Tvaluable' on
T R i T o 5 'salt? instead of Tsalty® oan no.ll, and
*elowly' instead of "quickly' on no.lZ2. The nunber of
correct answers of test II is 12 out 15 items. Bhe
makes three wrong answers on tha item no.3, 10 and 14
of test II. BShe choocses 'carelessly' instead of

*frankly' on no. 9, 'carelessly instead of fdirectly' on

no. 10 and "divectly’ instead of rpreferably’ on no.l4d.

Emgﬂgndeut 20

There are 11 correct answers out of 15 iditems in

test I. Ha makes four wrong answers on the item no.2, 4,
10 d 15 of test [, He chooses *respect’ instead of
an

no.Z 'rynfortunate’ dinstead af
frespectable’ on

L] ¥ Lel Y o & . tead =]
. I Micie Fp I ]‘JI'IUL-‘li.rIEEﬁ' i e ¥

- rclouwdiness! instead of 'cloudy’
lovaly!’ on no. 10, and "€

aut of 15 items
re 9 correct ansWwers
on fic.15: Thers &
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in: test I, k 3
He makes six Wrong ansWers  on Ehia ditem

.
N9.2,3s 6y 12,13 and 15 of test 11. He chooses '"gunny'

instead L
of Tsilky* on no.2, "daily®™ instead of "sunny'

F ks s
en  no.d, Hrassy' dnstead of Thilly' on o Gy

Ffortunately' instead of ‘Tunfortunately’ on  no.13,

"immediately' instead of fcarelessly’ on no.12  and
'unfartunately’ instead of "fortunately’ on no.15. The
number of correct answers from the two tests done by
this respondent 1s 20 and he gets the score of 6GE.6.

This Stcore is similar to "fair'! as the level of his

ability Based on the criteria of this writing.

Mexlt, the writer illustrates the mean Bcore of
students of class 111Aq in using Adjectives and Adverbs.

Thee mean score of students of class I11LAg iss

Notation t fx (the sufll af total scorel} = ZE23.3

30

M (Mumber of student)

m (the maan score) 87.5

&7



The stutents Avarage score of class I11An is satisTying.
The mean score 87.5 ig tlassified as 'excellent’.

The data have alvready bsen presented and
analyzed, therefore, the writer may proceed with the

conclusians,

(=13



CHAPTER 1V

CONCLUSIONS

The writer has presented and analyzed the data
in the previous chapter about Adjectives and Adverbs.
And at last, the writer makes conclusions as Tollows
1. Students' ability in using adjectives and adverbs is
satisfactory. It can be seen through their level  of
achievement that can be classified based on their
scores ! for score BO - 95.6 there are 28 students
which is classified as "excellent". Far score 76.B
there is only one student which is classified as
Mgood™. And there is one student gol score GE. G
which is classified as “"fair".

2. Students’ mean score in using adjectives and adverbs
is 87.9.

2. The students find difficullties in choosing the

suitable words because they do not know the meaning

of the words.

4. The students also find difficulties in using
. £

derivation (the changes from nouns inkto adjectives).

T achieve better result in using adjectives
o

! ike to sugogest bhat there
s writer would 1
ard adverbs, the
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should  be an i“tE"PElatianship between teachers and

students.  The teachers tive Mo e information and

xercises about adjrectives and adverbe and Lhe students

must understand the subject and do the exercises.

This is  all the writer has got through an

analysis of the data cbtained from SMA Gamaliel Ujung

Fandang. By writing the conclusion and suggestion , the

process of writing this "skripsi" has been finished.
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